Tree Diagrams

Use a tree diagram to illustrate the syntactic structure of the following sentence, and then
check the answer on the following page (PS: Some of the tree diagrams don’t make the
final words at the same level in the bottom. This is wrong. Make sure you keep the final
words at the level.)

The kings of France had an unhappy life.

The little bear saw the fine fat trout in the brook.

The children put the toy in the box.

The boy with red shirt kicked the ball.

Nora and her sister have found a gorgeous cat in the park.

Lia has many health problems but she has succeeded in her life.
| would tell you this story, but this is confidential.

©® No Uk wNR

| can have some apple juice or a coke.
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How to Build a Tree (O’Grady, p. 181)
Example — Sentence Tree (2)
The children / like the toy.
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The children put the toy in the box
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The boy  with  red shorts lkicked  the hall
Figure 1.1.2.
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